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» E: cm
> HE: 92cm

(7x4)+ (5x4) + (11 x4) = 92(cm)
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10cm
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20cm
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@ 942 cm? @ 1256 cm? (@)1884(3112
@ 2198 cm? ® 2512 cm?

B

(& 299 yol)= (WHx]F)x (F¥FA5)x3.14
(dHol)= (A5)x3.14x (&°l)

(B¥lol)= (& B Hol)x2+ (F4Hol)

(3t ¥ o] Hol)= 10 x 10 x 3.14 = 314( cm?)
(Fy¥lo])= 20 x 3.14 x 20 = 1256( cm?)
(BYlol)= 314 x 2 + 1256 = 1884( cm?)
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> E: cm
> HE . 6cm

T

L] Hol)=2x2x 3.14 = 12.56( cm?)
Hol Wol)=2x2x3.14x[ |=1256x] |
Aylo]) = 12,56 x 2 4 12.56 x| = 100.48

[ ]=(100.48 - 25.12) + 12.56 = 6( cm)
wtehA] 97]%-9] ol 6 cm YU
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2cm = cm
2.5
2.5cm .'
?cm
® @
4cm 4cm
\
4cm 3.5cm
/ /
/
®
lcm
\
\
?cm
!

@ 1x1x3.14x25="7.85(cm?)

@ 2.5%2.5x3.14 x 3 = 58.875( cm?)
® 2x2x3.14 x4 = 50.24( cm?)

@ 2x2x3.14x3.5 = 43.96( cm?)
® 1x1x3.14x5=15.7(cm?)




® 80mcm?® (@)1207rcm3 ® 144nwcm?

@ 1527wcm? ® 160rcm?

LV =ax42%x10 -7 x 2% x 10 = 1207(cm?)
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_6cm.

5cm|

~6cm”

it

>
> HE D 141.3cm?

1
6% 6x 3.14 x 1% 5= 141.3(cm?)
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® 927rcm? @96ﬂcm3 ® 100mcm?

@ 1047mcm? ® 108rcm?

1
3 % (mx 42 x 12) = 96m(cm?)




14. ohe 23} o] Wrlo] AAZFEl Ao Rl

® 6cm? @ 14cm? 3®)28cm?

1 1
V:§><42><6—§><22x3:28(cm3)




15. t= 923 9759 Fuprt A=z Ze u, 47159 Eole?

6cm

@ 3cm @ 4cm ® 5cm @&:m ® 7cm

(Y& Hu]) = (¢7]52 F1)
1
§><7r><62><8:7rx42><x

961 = 167X

" x=6(cm)




